BR. #HhHBERBRUARY I7OZEA (MmBHR)

7€ A (7 7 & L) AL

(4455'%%']‘}3\ if\_PkJﬁ ZRAD A %5%{3\% éb\ij—c Hé'f‘EH [TA—F— %‘: zZ

BIFE, —EER-oTRYVET, (‘fWqu K OAA 7 DFEAEL T, IR T Y H FC, TR TSV, )
FETEW, BERDH-TBE, BREFEOFETT, )

S buu e s 8844 8.

e L AT O
T381-0016

—
—
—
E

1.\

(20205 01B] #E—B® SKEHH 2020 F A 15 H EBREBHMES 30— 5
TEL: 026—-256—-9677
X RIS, BRVEDRHDLGA . TR AV, info@tkc—g.jp FTITHEHAELIZEN, (20204 01H] <~<—v 1> FAX: 026-256-9688
JE5e H ;s ER | mes e KAOERA/ ) |TE 7 5y 71 —MERE(MAX) " L .
|2 AR, ST | arg | m= i AL 51 35—, O OMESEEEE LT ET,
5H | SANKYO |P F. 34 ¥ —FK2 7 VHEEATE | 18514 100[E]| 3&1&1 319.7 | 128.8 #151.0% 4 560 |[~Y] <25 >5R=46.0%( R 100+ « [A]) « 10R=5.0%(H K100+ o [H])
&5&15 #£100.0% 5 700 <3y >5R=49.0%(H4E 100[=])
@5 H = [T B AR MY =3, BEF =—=1FEEk (fisP%=1/449)[ 10 6 840 [[EFa—] <FeZ>[#8°100+ « [0]]4R=10.0% 6R=7.0%
@ ERIEZE =72 @IREH) =5Hb 8 1,120 <HEZS [17K7100+ o [B1]8R=3.0%+ 10R=80.0%
@ Ll AHAEY —) @IET = —EJeiH{b) 10 [ 1,400 K 100[FIZ#E 2 THEREE YISk
@ /40 | ffesk =721 S L00[EIAH ORAVEIRE, FFE % 100[ENZ R
AX—ER |POSHLOZRE I~ ~ VFEOFEIR | REAE R | 3TEE | 3&1&4 319.7 | &% 100.0% T3 | 420 [[~Y] <D F6R=100.0%(FF4E 1[E]=98.0% - 99[E]=2.0%)
AM (1/5/99H) | &7&1&]15 7.72 10 T 6 | 840 |[FEFa—(EEE)FK AR ] T 9E3R=48.8% (KA 99[E])
MY =3, BEF =—=1AEEk T(3) 9| 1,260 <IRFRE> T FZ9R=48. 8% (IRFAE99[A]) « T IR=2.4%(HFH799[=])
@K E = LT H AL X EVRERE /=18, TT4yh—=15H ik [ F2—(EBEE) PR BT IRE ] IR T 52 3R=48. 8% (IR 5[E])
@ [HRiEZ | =72 @IREH =Y <HRERED T FZ9R=48.8%(HEAT5[A]) « FIR=2.4%(HF £ 99[A])
@EFAFEAE)— | @IFEF = — ik, ST BLE R T or/ N DAL 1 /3220938852
@/ ) iR =#91/99.9 (~)) - 1/6.3 (FEF2—) BT o — A IY BRERIE R 4]
TLATY)A |PEEEHS H1AZ9 e I 100[E| 3&1&1&1 315.0 | 49.0 55.0% Ts5 T2 60 |[~r] <HEEZ> TF2R=10.0%
/N RUSH &4&T7&15 F10[ k10 1,400 <25 > _E10R=45.0%(H K K [B]32=42.0% « #75 HERUSH=3.0%)
AV =3, EF =2—=U1EAHER <E > 10R=45.0% (% 100[=])
KRT4yh—=T{8, E74yh—=15{EEER [ro(ffeZe )] ifeZs> F2R=5.0%( K #ERUSH)
72> E10R=50.0%(FH ¥R [B]32=25.0%- ¥ MERUSH=25.0%)
GEE> L 10R=45.0%(F4E100/H])
@ 5V R DIREEZS B ) 145 [#:2(RUSHH)] <HeZ> [H4°#ERUSH] F2R=5.0%- - 10R=50.0%
@ =T HAEAE) <@y > 10R=45.0% (45 100[])
@ [HRFEZE | =72 @IRET =1 (#2055 ) ] 25> F2R=5.0%C(F & ERUSH)
@ Ll AEAEY—) @IET = —EJeiHb) <JifeZs > _F10R=50.0%( K Yk BIYZ)
@ /1YY I HEHRE=51/15.0(~) - 1/2.0 (552) GEH > £ 10R=45.0%(F¢4E 100[A])
=EME |PABYRESR2 F | ez a2 33| 3&2&4&14 99.9 | 16.9 50.0% ; 5 455 [<EEF> <48 >5R=46.0%+ 10R=4.0%
O [ | =72 @IRAHE | =71 A =3, BF =—=2{FFHEk 10 910 <3E > BR=50.0% (4 33E])
@ mEAEAT)—) @I NENAHEAL,
oy Ek=nL |
PHIWWSFUEMEESR2 A | WeZs % 10/E]| 3&2&2 49.9 | 16.9 60.0% ; 5 210 (<> <HfEZE>5R=59.0%- L0R=1.0%
@B RiEZ =72 @IREF) =721 &3&T 10 420 <GE > BR=40.0%(FF4E 10[])
@ miAEAT)—) @I ANENRHL MY =3, BF =—=2EE K
oy k=il | | | |




FEHIER I, BRDEN B A E . TR A— /LI, info@tke—g.jp ETITEAKITZEN,

[20204 01H] <<= 2>

F55H ; maop | smars e KEOFERA/ ) W 747 —PERE(MAX) . .
|2 322 ot I Al -0 Enanl el B0 5, O OMEIEREERLTOET,
5H PHZ2Om M—K1 | ZEHIST | STHp 20000]| 2&1&2 >p>&>UsUsE>E>USEEP>U3USR [ >Y>U >Y>@RFEESU G2 > 10R=72.0%(3%2001=])
@i i T AN AT) = AT A W 100[e] &4&14 >0>y? >63b>U>0>0 S>> 1>l DR>28I6H (1 100[])
O =T Th | ey —2f8, BF = —= B
@ ERIEZ | =72 @TREHE)) =721
@ miAEAT)—) @I ANENEHAL,
Oy k=il |
PHZ2OH ML—K1 | ZEHIST | STHp 2000H]| 2&1&2 >Y>é>&>>t’)’/>ﬂ:»>a>0>§r>0>0>0>9ﬂ >a | >R>ta~v]  GEZS[HK°200[8] ]4R=51.5% 10R=28.5%
@it i T A NAT) =2 AT A G 100m] &3&12 >0>9? >63b>UsU>GY>U| >&>&bi>I> 1>t -20x0%(145 100/7])
@5 H = [T B AR | MY =2, BEF =—=1FHEEk [ F2—] <HEZe> [#5720005 ]4R=28.0%+ 10R=52.0%
@ BRI | =72l @IRET | =5V S>> >IN A RA200%{ 545 100/H])
@ SFEAT)—) @I AENRHL M~y i, Fr1 el st =1:11% H,
@ /YY) | FER =71
PEyEx57 %A RCY2 ZNAST | STHp 160[A| 4&1&3 SY>>RstYetr Ha> U UsUSUsUSN >Y>x3R>a>(B0y ] <G> 1+ F5R=100.0%( 4K 160[H])
@ E = T H AR &11&11 >0>y? >63Y28>U>0Y>x3a>a> b Fa—] <HEZ> _E 1+ F3R=50.0%(HK"160[m])
@ REL | =72l @IREE) =5V KEF 2—E =1 >Y>x3&V>@pU>U>U FeZE> 1+ FIR=50.0%(H 4 160[])
@ mEAEAT)—) @IET =—EIW{b) ¥ k. Ty 4kim=11{8E K
@ /YY) | ffesk =721
PAZw¥ 257 FA RGY VST | sTr 550]| 4&1&3 D | >&>&>Us@sB>>551p0.0% T4 | >a>8fgv]  <GEZD 1+ TIR=10.0%(FK 55[E])
@K H = 4T B AR H 20[m] &13&13 D!| >a>a>{=isd>0>56000.0% 0 >Y>x3R>A>EHU 1> 1> >3 RIS D> 0%(HF 4 20(])
@ ERIEZ | =72 @IRZEH) | =HY MEBEFa—EHEK=18| DY >a>a&>=@sd>>a0>y? >épa>a>p >Y>x3a>a>HpdFa—] 2> b1+ 3R=60.0%( 4 55(E])
@EFAFEAE)—] @IEF 2 —EEIHL] ¥ b, Frhyh—-Im=13ME £k >Y>x3&V>@pp>U>U 28> E1+ F5R=30.0%(A'55[A])
@ /YY) R =721 s> 1+ TFI9R=10.0%(F 4" 55(m])
SYSSUSHPAFEE D777 —2 Y URi2FEIR | L 1a]| 4&1&3 AH 100.0% 10 TES3| 240 [[~Y] <HkD> T FE3R=91.4%(HHHE 1 [0]) 5 TR ry L
@ FFE = T O AR &3&9 99.9 2.2 TEH 9| 720 <P > TFOR=8.6%(FAE 1a])
@B RIEE | =72 @IREE) | =HY KEF=—EHEk=11 [FEF2—]<RFED T 523R=39.5%(RF 81 1 [A])
@ Ll AHAE)— ) @IET— Bk X EVEE /=3, FT4yh—=9FE Kk <HFEE> T F29R=60.5%(FE4E 1 1))
@ /)40 R =591/39.3 (~<KN1/2.5TVAED) «1/1 (BF2—<N1/2.2TVANED) MAET 2 — (R MEICRY, R R — A BRE 2+ 1]
PAIXBLAZH RERH 12 H%E,.EH 4FE¥E | 3&1&2&3 wmErE [ A 100.0% T 3] 150 [[~Y]  <EpED> TF3R=100.0%(FR54E 10[H]=98.5% - 65[7]=1.5%)
33890 Al (10/25/45/65[]) | &5&3&6 | D[ 100.0 [ 21.3 10 | F%£6 | 300 [[EF2—] <HED TF3E3R=50.0%
MAYVHER=3E, BF=—EEK=1E©@| 97.7 | 21.2 T39 | 450 (FRFAE25[m1=12.5% 45[7]=34.5% 65[A]=3.0%)
@ FE = I HAEAR ¥ EVIRE /=38, TT4yh—=6fEEK| @] 94.5 | 21.1 <> FFE6R=37.0%
@ B IRFEZ | =72 @IREH | =5V @] 90.3 | 209 (B4E.25[]=2.0% 45[1]=29.0% 65[]=6.0%)
@B AREAT)—] @I AEINEHL ®| 86.7 | 207 <ERED> T FE9R=13.0%(F4E 45(8]=0.5% - 65[0]=12.5%)
@ /40 iR =%91/27.1 (B Fa—) ®| 73.6 | 19.8 MET 2 — IR MEIZ LY | R R AT IE +4A]
13H




SRR, BRVERB LG TR A— VI, info@tke—g.jp ETITHAKLI IS, [20204F 01H] <~=—¥ 3>
%52 H % g | e e KYOfERA/ ) |k 7% H—HRE(MAX) . o
|2 322 ot I Al -0 Enanl el B0 5, O OMEIEREERLTOET,
190 PIXHAZTIVNT6 R URE2FRIR | R [ >Y>U? 7 >3&U82 &5 >R>Y>E>E5R >Y>U>U>L’J%L”é>l<l >R>x3Y>b>gfa~/] D TF8R=100.0%(HF4E 10[H=50.0% 100[71=50.0%)
K3 &T1&T1&15 >&>a>U>a T8 | >R>g¥&EF=—] <WifE> T3+ EVIR=30.0%(#545 100[=])
@ E = LT O AR MY HER=3E  BEF =—HKIFK=1 10| E 10 [ >V>@pd>Bitis szl kiw)e0R-10. 0% 100/H])
@ BRI | =72l @IRET | =5V MTFTHyh—>8fdl, BV />85fE B Bk BT 2 — R AEICEY R R 4TI 4]
@ miAEAT)—) @I ANENEHAL,
@ /)N4Y R =%91/67.6 (FEF2—)
R E |PEy/RJ—A2 GFE VHERRZE | 7V ofFl| 3&1&1 >R>Y >t >{a>@sa5. 0% gk 2 | >a>dl~Y] <28 >2R=5.0%+ 10R=50.0%
@ = 4T B AR &2&4&15 #1£80.5% SY>U  >p | >p>F>Uisi>i>inkssisRaAsb0%{510[E])
@ [ RZ | =72l @IREHE =5V MY =3, EF 2—=1FEK >Y>U >Y>@HaED=2U)] <2 >Y>Usp>é>a>U>U>a>N
@ mFAEAT)—] @IET =—EW{b) S>> IS ERIREI . 5% (KA 0[H])
@ /YY) | ffesk =721
PIEDEs— LRz, ZAST | STHf 100E]| 1&2&3 D | >Y>a>B>pasp3Us>¥Y>U>UqU>U>N T 4 SE>p~Y]  <FEZE[R100[E]] F4R=16.0%¢ 44R=16.0%¢ £75R=16.0%
LEUEREENE] Y3F &T7&3&9 | D | >Y>a>potaalzUsid>y? >ex3Y>Us0>0 6 | >Y>U>a <> [H4°100[E] ] F6R=16.0%- 456R=5.0%+ T 8R=16.0%
WAy =1, BF =—=2FFEk| D! | >Y>a>|V>theaiyU>p T8 | >Y>3>a <HeZ5>[#°100[E] 1458R=5.0% 479R=5.0%+ 47 10R=5.0%
MTTHvh—>8, AT78yh—=9EEER| D" >Y>R>a>khssxU>a F 4 | >p>gb@Fa—] FeZO[H$8°100E]] F4R=10.0% #54R=5.0%+ £75R=15.0%
D# >Y>R>UstER5U>U >4 5 | >R>g8>U 22> ¥4°7100[m] ] F6R=10.0% 45 6R=5.0%+ F8R=10.0%
@ E = LT O AR H| >Y>Ysastesas{U>R H6 | >a>R>p <S> [H°100[E ] 45 8R=5.0% - £59R=10.0% 45 10R=30.0%
@ [HREZ | =721 @IREH) =HY 8 | >&>apa
@ EFAEAT)— | @IET=—EIHL] H9 | >a>3a
@ /YY) | FEE=701 410 | >a>g>U
PEEKA ZB VHEST | ST 120[8]| 3&1&3 >R>Y>A>EB:28U100.0% >a | >&>au~r]  <GEZ (471200811 7R=85.0%- 10R=15.0%
@i =L THALEE) &5&15 #k100.0% | >Y>0 >a | >&>af@EF2—] 2> [$#5°12008 ]4R=30.0%- TR=20.0%- 10R=50.0%
(REiil) | @TEIRMEZ | =72l @IREH) ) =&HY MY =3E, BF =—=1EE K >0>y? >63Y>p>[)>GY>U| >Y>gpa>UsU
@EFAFEAE)— | @IEF = — L]
@ /YY) ffesR =71
PHEEMKEL MA VHEST | STH 12008 3&1&3 >Y>&>R>tkssax{U>#]50.0% >a | >aUko-v]  GlEZS[HK°120[8] ] 7R=40.0%- 10R=10.0%
@ =T HAEAE) T 100[e] &4&11 W100.0% | >Y50 >3 | >a>Usiisisi>isbstsi e 5008115 100[H])
@ EIRTEZ | =72 @IRZEH) | =5HY MY =3, EF 2—=1EEEK >0>y? >63Y>b>|)>GY>U| >V>@HE =] <HEZ> [H5°120[H ]4R=30.0% 7TR=20.0%* 10R=50.0%
@EFAEAE)—) @IETF = —ELEIHL]
@ /YY) | ffesk =721
PEEKL GLB VFEST | STH 70[8]| 3&1&3&10 >&>85Us&>4>U0>#]50.0% >a | >R>gba~y]  GEEZO[HET0ME]]TR=47.0% 10R=3.0%
@FrE = 4T B AR TH 1 30[8] #E100.0% >8 >3 | >&apiel>I>I>HSIFRAS00%{ 4 30[H])
@B RELE | =72l @IREE) =5V MY =3, BEF =—=1FEEk >0>y? >6pa>U30 >Y>U >a>VR8EF—] 2 [$5°70[8]]4R=75.0% TR=10.0%- 10R=15.0%
@EFAFEAE)—] @IEF 2—ELIHL]
oy ek=nl | |
26 H




